
Match The Following Questions Overview
Match The Following Questions have a good weightage in the Banking Exam and the type of question asked in Banking

exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried

to elaborate the concept used in Match The Following Questions.

Question
In the following questions, two columns are given containing three sentences/phrases each. In the first column

sentences/phrases are A, B and C and in the second column sentences/phrases are D, E and F. A sentence/phrase from

the first column may or may not connect with another sentence/phrase from the second column to make a grammatically

and contextually correct sentence. Each question has five options, four of which display the sequence(s) in which the

sentences/phrases can be joined to form a grammatically and contextually correct sentence. If none of the options given

forms a correct sentence after combination, mark option (5), i.e. “None of these” your answer. Column1 Column2 A. The

Ministry of Defence (MoD) is preparing to acquire 30 General Atomics MQ-9B Guardian drones from the United States. D.

Small businesses in India, already struggling amid the pandemic, are now having to repay mounting debt after a loan

holiday. B. Short of an India-China fighting war or another Galwan-type conflagration, a 'worst-case scenario' is taking

steady root in eastern Ladakh. E. It is an initiative launched by M.H.R.D [Government of India] under Digital India to give a

coordinated stage and free entry to web courses, covering all advanced education, High School and skill sector courses.

C. SWAYAM (meaning 'Self') is a Hindi acronym that stands for "Study Webs of Active-Learning for Young Aspiring Minds"

is an Indian Massive open online course (MOOC) platform. F. The Reserve Bank of India gave borrowers a six-month

freeze on their loan repayments.  

Difficulty : Moderate Average Time : 94 Seconds

Options :
1. A-D

2. B-D

3. C-E

4. C-F

5. None of these

Solution
The correct answer is Option 3, i.e. C-E.
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Concept/Grammar

Rules
Application

Connecting two or four

statements from both

the columns must end

up making a

contextually and

grammatically intact

statements entirely.

Among the given

options, Option 3, i.e.

C-E seems to make a

meaningful statement

after rearrangement.

Statement "C" seems

to be in conjunction

with "E" as both

seem to be stating

about SWAYAM

initiative.

The remaining

statements are not in

sync with each other.

Hence, the correct

answer is Option 3

and after connecting

the two the sentence

will be "SWAYAM

(meaning 'Self') is a

Hindi acronym that

stands for "Study

Webs of Active-

Learning for Young

Aspiring Minds" is an

Indian Massive open

online course

(MOOC) platform. It

is an initiative

launched by M.H.R.D

[Government of India]

under Digital India to

give a coordinated

stage and free entry

to web courses,

covering all advanced

education, High

School and skill

sector courses."
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